Name: Class: Date:

~Peview Quizzes

Multiple Choice
Identify the choice that best completes the statement or answers the question. -

1. List all the whole numbers between 63 and 101 that are perfect squares.

a. 64,81,96 c. 64,681,100

b. 64,81 d. 64,72, 81,100
2. Which decimal has a square root between 14 and 15?

i) 2403

i) 169

iii) 14.5

iv) 204.5

fe b b: i b ) d v

3. Which fraction has a square root between 3 and 4?
o

1) 3
S O
ii) 3
37

4

579

4

Bl Jo}; CET deii

ii)

iv)

4. This object is made from 7 centimetre cubes. Determine its surface area.

L 20cms b. 28 cm? c. 42cm? d 26cm?

5. This object is made from 7 centimetre cubes. Determine its surface area.

a. 30cm? b. 42 cm? c. 26cm? d. 22cm?



Name:

6. This object is made from 7 centimetre cubes. Determine its surface area.

%
b

R

a. 29 cm? b. 28 cm? c. 24cm? d. 26 cm?

This object is made from 9 centimetre cubes. Determine its surface area.

a. 30cm? b. 28 cm? cl3dicme d. 54 cm?

This object is made from 14 centimetre cubes. Determine its surface area.

a. 34cm? b. 42 cm? c. 40cm? d 70cm?

. Here are the 6 views of an object made using centimetre cubes. Determine its surface area.

Top
Leftside  Front Right side
Bottom
‘Baclk
a. 14cm? vk Wfayeds c. 13cm? d 24cm?
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10. This object is made from 3 identica] right rectangular prisms.
Each prism is 55 cm long and has square ends of side length 25 cm.
What is the surface area of the object?

a. 20250 cm? b. 12875 cm? c. 12000 cm? d. 14750 cm?

11. This object is composed of a rectangular prism on top of a cylinder.
The rectangular prism has height 8 cm and square ends of side length 4 cm.
The cylinder has diameter 16 cm and height 6 cm.
Determine the surface area of the object, to the nearest square centimetre.

4 cm

- -

a. 631 cm? b. 816 cm? c. 832cm? d. 848 cm?

12. A 4-cm cube is attached to the top of a right triangular prism as shown.
Determine the surface area of the composite object, to the nearest square centimetre,

a. 298 cm? b.  352cm? e 336 ca? d. 368 cm?

13. Write the base of —(5)°.
a. -5 b5 c. =5x3 i



14.

158
16.
L7

18.

19

20.

21

A,

203

o1

Which answer is negative?

) (-6)°

i) ~(6)°

iii) —(—6)°

a. iandii b. iiand iii c. ionly d. iandiii

Write one hundred million as a power of 10.

a1 i) c. 1o : o7
Evaluate: —8°
a. 8 {55 e i, =R ) d -1

Evaluate: (——13)0
a0 b 5] c. -13 d -1

Write (5% 101) + (8 X 101) + (9% 10%) + (6 x 10°) in standard form.
a. 50980 b. 50986 c. 500981 d. 5986

Evaluate: (3+4)” = (2-4)°
a. -31 b. 57 el d 41

Evaluate: 10° x 10° +10°

a. 10100 000 G 120
b. 1000 000 000 000 d. 10000 100 000
ik
Write—(7 J as a power.
R b -7° c. -7° e
Identify the greatest rational number.
o S
=g 4§

L5 5 AR 3
a. = b. 3 c. 1a . d.. =
Order fhe_humbers from least to greatest.

- =04,-04,-0.44 _ e
a. —044,-0.4,-0.4 c. —0.4,-0.44,-0.4
b, —04.-0.4 044 d. —0.4,—44,-0.4

‘Which of these numbers are between —2.4 and —3.9?
—4.05,-2.95,-3.95,-335

a. —4.05and -3.95 c. —395 and-3.35
b. -2.95and-3.95 d -2.95and-3.35



Name:

25

26.

28

28.

PO

30.

S1

A student first borrowed $40.23, then borrowed another $15.75 from his father.

He then paid back $20.75. How much does he still owe his father?

4. $3.75 b. $45.25

Which expression has the least sum?
i) 9.43+6.05

ii) —9.43+6.05

1) 9.43 + (-6.05)

iv) —9.43 +(—6.05)

a. il Bis

Determine this difference.
3.7—-(-5.9)
a 9.6 b. -21.8

Determine this difference.

ey

43 i
g =5 b

Which products are less than 0?

i) (-0.6)x(1.1)

i) (=2.3)x(-1.8)

iii) (=1.2) x(-0.7)

iv) (1.5)x(-1.8)

| b. 1,1l and iv

Which products are less than 0?

a. All of these b. i, ii,andiv

Determine this product.

)l5)

4 8
a. 75 b. 215

c. $24.50
Co iy
coERIG

o
e 10
c. iandiv
c. 1and iii

8

c. =2 15

$35.25

v

43
10

1i and iii

ii and iii

S

ID:
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32. Determine this quotient.
(-2.8) + 4
a. —0.7 b e c. -7 d. -0.07

33. Determine this quotient.

T

o 4 35 5
i 2y ey S
34. Determine this quotient.
B
14 4
& 5 45 35
a. 35 b. ~56 c. 36 d. o)
35. Determine this quotient.
I 3
(5]
11 15 10 9
a. —115 : b. 36 T d —3"1—0

36. Which quotients are less than —17

» (B4

a. iiiandiv ] ‘b. iand iii c. i1andii d. iiandiv

37. The pattern in this table continues. Determine the expression that relates the number of triangles to the figure

number.

Figure, f 1 2 3 4 5
Number of Triangles, ¢ 2 1 6 8 10

a. 2f ekt Ahenrs : et D
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AR

35

40.

Which tables of values represent a linear relation?

1)

2 3 4 5
4 7 e 19 28
1i)
1 2 3 4
5 10 15 20
iii)
1 2 3 4 5
5 9 ek By 21
iv)
0 1 2 3 4
12 11 10 g 8
a. 1i,iil, and iv b. iiandiii c. All of these

This graph represents a linear relation.
Determine the value of y when x = 9,
~

y
10
8
6
4
2
_ll' T L L ey, T T >
0 LA el R HUTOI
a5 [ 8 Sy
Which of the following expressions is a binomial with degree 2?
i) x>—6x+5
i) 3x?
iii) Sx% — 2x
1
W)l
X
a. i [ e e. 1V

d.

iand iv

11

ID: A



. Which of the following expressions are monomials with degree 2?

Pt

i) 2x?

iif) x2

1v) 2x

a. 1iiand iii b. iiandiv c. iiiandiv d. iandii

. Name the coefficients of the variable in the polynomial —4x? +10x=12.

a. —4 bes=4 1) c: =4 =12 d 4,10

Simplify: 10x% — 8+ 3x+ 5— 6x” — 6

a. 4x%—3x+3 c. 4x?+3x+3

b. 4xZ—3x-3 AR
. Add: (Bx-T)+(5-2x) _

oy b, —Sx+12 .5y e0 d 5x+2
. Add: 3x% = 5)+ (6x°> — 10x - 6)

a. 9x?—10x+11 c. 9Z-15x—6

b, 9x%—10x-11 d. 18*-10x-30

Subtract: (6x—3)—(11x—8)

2 =Scrll b. —5x+5 C.. =bxeb d —5x—11
. Subtract: (2p—-3)-(3-2p)

a. —4p+6 O c. 4p-6 d 4p+6
. Subtract: (5> —4)— (8% + Tr+8)

483,20 g D c. =3r’+Tr+4

b =Bre=Tr—12 d. 3?+7r+4

Subtract: (3 -2c—6¢2) = (5¢ - 3)
4 =Gc —Tp c. —6c>+Tc—6
b. 6c*+7c—6 . d. —6c>=7Tc+6
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___ 50. The perimeter of this isosceles triangle is represented by the polynomial 15p +12.
Write a simplified polynomial for the length of the unknown side.

bp+ 3

2

a. 25p+18 b. 5p+6 c. 10p+9 d. 5p+3

51. A large black square represents a —xtile, a black rectangle represents an —x-tile, and a small white square
represents a 1-tile.

What is the division sentence modelled by this set of algebra tiles?

--[:IDE]
.-E]DD

—30x% —32x-+ 16 . == rth : —32x% +32x+48 d % —2x+6
2 { 2 : 16 i 2
52. Determine the area of this rectangle.
—3x24x +2
8
2l ) e el vk
b. 24x-dx+2 d.  —24x*-32x+16



Name: ID: A ‘

53. A large white square represents an x’-tile, a white rectangle represents an x-tile, and a small white square
represents a 1-tile.

Which of these mulﬁplication sentences 1s modelled by the algebra tiles below?
) 2x(2x+5)

i) 2(2x? +5)

1i1) x(2x +35)

iv) 2x(4x? + 10x)

oL e T

U\ 00000
] 00000

a. i o) d iv
54. Solve:4.3=-2x-2.7
40035 b. -0.8 c. =35 d 0.8
55. Solve:4x+28=72
a 04 b. -1 € BS (e ol
56. 801ve;8=5+33‘— _
a. -7 b 19 il o
57. Write an equation for this statement: A number divided by 3, plus 8, is 11.
a Z=8+11 b. Z+8=11 oe g a, AL
3 3 x : 3
58. Solve: 8y=2y-12
a. y=-2 b. y=-18 (6 y=:;—9 d p=2
it
59. Solve: 4+ S
a x=-4 b. x=-60 c. x=-8 d x=-15

10
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60.

61.

62.

63

64.

Which of these graphs represent the solution of the inequality g —2 < 0?
1)

AN

AT I e

R e L _
b. Graphi c. Graphiu d. Graphiv

il
Y
a. Graphii

Which of these numbers is a solution of the inequality j +1.2 < 3.6?
24,21,14,35

a,. 2.0, 14 L LR C AN RIGaLS d 24,21,14
Which of these numbers are solutions of the inequality 11 > 3 —2w?

—4,-3,-5,-2

a. -3,-2 b. —4,-3,-2 c. -3,-5 1 s

Solve: 7+§x <10

a x>—4 b. x<—4 cCox <4 A

O is the centre of this circle and point Q is a point of tangency.
Determine the value of x°.

Q

74

41°

a 1808 b. 49° gl kA

11

ID: A
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65.

66.

67.

O 1s the centre of this circle and point G is a point of tangency.

Determine the value of a. If necessary, give your answer to the nearest tenth.

Ay

© 11
gl 3 b, 225 c. 4.6

O is the centre of this circle and point Q is a point of tangency.

d 149

Determine the value of c. If necessary, give your answer to the nearest tenth.

a. 48 bas2 ) o

O 1is the centre of the circle.
Determine the value of v°
A

a. 19 bl g a8

12

d/ 382

ID: A
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__ 68. O isthe centre of the circle.
Determine the value of s to the nearest tenth, if necessary.

H

aues bl o cio 12D

69. O is the centre of this circle.
Determine the value of c°.

0

as°

A Yl c. 180°
b. 44° d. 88

70. O is the centre of this circle.
Determine the value of v°.

b5 08 g 318

13

51
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Short Answer

71. Five centimetres cubes are labelled 1 to 5 as shown.

2 (3|4 5
Determine the surface area of the object formed by placing Cube 5 on top of each indicated cube.
a) Cubel.
~b) Cube3
- ¢c) Cube4

72. Determine the surface area of this composite object, to the nearest square centimetre.
The cylinder has diameter 3 cm and height 4 cm.
The prism has length 10 cm, width 9 cm, and height 9 cm.

3cm
e
4 cm
9cm
9cm
10 cm

73. Write these poWers in order from least to greatest.
0S5 43 34 52 :

74. Insert brackets to make each statement true.
a) 3°+4x5-22=13
b) 32+4x5-2%2=61

75. Evaluate: 52 +6° +52 +6° +52 +6°
76. Simplify, then evaluate.

(2 x (2] —[(—3)“+(—3)3]

77. Imsert <, >, or = to make each expression true.
a) 2065 mm [J 20.65 cm
b) 3334m [J 33.34km
c) 1447cm [J 1447 m

14
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78. Estimate whether this sum is greater than or less than 0.
11.32+(-11.21)

79. Determine this difference.

80. Evaluate this expression.
—6.7—16.59+12.26

81. Determine this product. -
1 2
=)

82. Which quotients are less than 07?

: 2 7
i) ——25—.—18
e
i) 0= s
i A
1ii) —187(—9

iv) § +(-22)

83. a) Write a division expression with the same answer as % + [—% ]

Wit

J

b) Write two multiplication expressions with the same answer as % = [

84. Evaluate.
0.6x2.7
0.162+0.3

85. The first term value, f, in a pattern is 25. As the term number increases by 1, the term value increases by 4.

a) Create a table of values for the pattern.
b) Write an expression for the term value in terms of the term number, 7.

15
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86. Match each equation with a graph on the grid below.

1) y=-10
W) e=2
i) x—2y=0
Ay
12 .
A
S| k| L 4 12 x
Cc

87. This graph represents a linear relation.
a) Estimate the value of y when x = 3.
b) Estimate the value of x when y = —1.5.
™ y

=]
T

4
i

N

T~

16
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88. This graph shows how a speed in feet per second relates to a speed in metres per second.
a) Estimate the speed in feet per second of an object moving at 6 m/s.
b) Estimate the speed in metres per second of an object moving at 26 ft./s.
T

Speed Conversion
10
]
8
w
E® ]
ks
2 5
(75)
2 :
e
P
DFERE R s > A6 00 RO e OB
Speed (ft./s)

89. Which of the following expressions are polynomials?
i) X —3x15

SERt
s

X
jii) 2% +6x

iv) 7-x

117
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90. A large white square represents an x?-tile, a large black square represents a —x2-tile, a white rectangle
represents an x-tile, a black rectangle represents a —x-tile, a small white square represents a 1-tile, and a smal.
black square represents a —1-tile.

Match each polynomial with its corresponding algebra tile model.
RS —or e

i) 3a®-6

iii) 45~ 7- 257

iv) 5m®

v) -3p+8

vi) ~4c? +6c-2

Model A
HE B EElElE)
(5] 8 (6] S ]

Model B

Model C
Model D
ELET o
O
Model E
TEE
HEEHE
Model F

] LRl

91. Group like terms.
5%l 52043 ayt o ny

92. Simplify: 5x—44+5-2x+4x-3+3x-5

93, Simplify: ~x? +5— 6x+4—3x2 + 4

18
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94.

958

- 96.

Ol

98.

09,

100.

-101.

102.

A large white square represents an x?-tile, a large black square represents a —x?-tile, a white rectangle
represents an x-tile, and a black rectangle represents a —x-tile.

Write the polynomial sum modelled by this set of tiles.

HEN -

. N (R [ i )

The area of this rectangle is —28x% + 8x. Write the division sentence modelled by this rectangle.

-2Bx 2+ Bx

=-12

6x
Solve: i

Forty-four divided by a number is —11. Write, then solve an equation to determine the number.

Which operation will you perform on each side of the inequality to isolate the variable?
—14+z>19

Solve: 8+4f> 5f+3

A

Gary has $227.36 in his bank account. He must maintain a minimum balance of $550 in his account to avoid

paying a monthly service fee.
How much money can Gary deposit into his account to avoid paying this fee?
a) 'Choose a variable, then write an inequality that can be used to solve this problem.

b) Solve the problem.

2
Solve 5+ F W > 4. Graph the solution.

Il Il ! (] ! 1
T

-5 -4 -3-2-1t 0 1 2 3 4 5

Solve: 2.4+3.7x <4.2+2.5x

19
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103. O is the centre of this circle.
Which line segment is a diameter?

ug

e e
E

104. Point O is the centre of this circle.
Determine the values of x° and y°.

T

105. Point O is the centre of this circle.
Determine the values of ¢® and 4°.

20
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Problem

106. This large square is made of 9 unit squares.

The numbers of squares of different sizes in the large square are:

1-by-1 square: 9

2-by-2 square: 4

3-by-3 square: 1

The total number of squares in the large squareis: 9+ 4 +1 =32+ 2+12=14

Write and evaluate an expression for the number of squares.
a) a4-unit-by-4-unit square b) a S-unit-by-5-unit square

c) a IO-un.it-by-lO-ﬁnit square

107. Write each number as a power in as many ways as possible.
a) 1024
b) 729

108. Write each whole number from 32 to 39 as a sum of two or more squares.

Number Sum of Squares
32

33
34
35

36

37

38

39

21
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109.

110.

111.

11

3
Write the expression E so that the powers have the same base.

Simplify, then evaluate.

A resort rents out mobile phones by the day. This graph shows how the cost to rent a phone relates to the
number of days the phone is rented.
a) Estimate the cost to rent a phone for:
i) 1 day
ii) 13 days
b) A customer paid $35.00 to rent a phone. For how many days did the customer rent the phone?

] Cost of a Phone Rental

80

0 2 4 6 S oo S
Time (days)

Solve: 2(p+5)+3(p—2)=2(p+6)
Show your work.

Point O is the centre of the circle.
Determine the values of x°, y°, and z°.

20



